

Journal of Advances in Mathematics and Computer Science

Volume 39, Issue 8, Page 68-78, 2024; Article no.JAMCS.121253 ISSN: 2456-9968

(Past name: British Journal of Mathematics & Computer Science, Past ISSN: 2231-0851)

On Some Properties of Square Normal Operators

Warue Edith ^{a*}, Sammy W. Musundi ^a and Jeremiah K. Ndung'u ^b

^aDepartment of Physical Science, Chuka University, Kenya.

^bDepartment of Pure and Applied Sciences, Kirinyaga University, Kenya.

Authors' contributions

This work was carried out in collaboration among all authors. All authors read and approved the final manuscript.

Article Information

DOI: https://doi.org/10.9734/jamcs/2024/v39i81922

Open Peer Review History:

This journal follows the Advanced Open Peer Review policy. Identity of the Reviewers, Editor(s) and additional Reviewers, peer review comments, different versions of the manuscript, comments of the editors, etc are available here: https://www.sdiarticle5.com/review-history/121253

Original Research Article

Received: 07/06/2024 Accepted: 16/08/2024 Published: 21/08/2024

Abstract

The study of operators in Hilbert spaces is an important concept due to its wide application in areas like computer programming, financial mathematics and quantum physics. This paper focused on a class of square normal operators in a Hilbert space. Let H be a complex Hilbert space and B(H) be a bounded linear operator acting on H. Then an operator T in B(H) is a square normal if $T^2(T^*)^2 = (T^*)^2 T^2$. This paper studied the commutation relations and properties of this class of operators and showed that for any square normal operator T, then T^* and T^{-1} if it exists is square normal. Furthermore, the sum T + S and product TS of two square normal operators which commute with the adjoint of each other is square normal. To achieve this, the properties of normal operators and other operators related to normal operators were extended to square normal operators.

Cite as: Edith, Warue, Sammy W. Musundi, and Jeremiah K. Ndung'u. 2024. "On Some Properties of Square Normal Operators". Journal of Advances in Mathematics and Computer Science 39 (8):68-78. https://doi.org/10.9734/jamcs/2024/v39i81922.

^{*}Corresponding author: E-mail: warueedith2@gmail.com;

Keywords: Normal operators; square normal operators; commutation relations; adjoint.

1 Introduction

Throughout this paper B(H) denotes the algebra of all bounded linear operators on Hilbert space H. A linear operator T on a Hilbert space H is said to be bounded if there exist a constant c > 0 such that $||Tx|| \le c ||x|| \forall x \in H$. T is called self-adjoint if $T = T^*$, invertible with inverse S if there exists $S \in B(H)$ such that ST = I = TS where $I \in B(H)$ is the identity operator. An operator $T \in B(H)$ is said to be normal if it commutes with its adjoint i.e $(T^*T = TT^*)$, equivalently $T^*T - TT^* = 0$. An operator $T \in B(H)$ is said to be positive if $T^* = T$ and $\langle Tx, x \rangle \ge 0 \ \forall x \in H$. An operator $T \in B(H)$ is said to be n-power normal if $T^nT^* = T^*T^n$ for $n \in \mathbb{N}$, class Q operator if for any $T \in Q$, $T^{*2}T^2 = (T^*T)^2$. $T \in B(H)$ is called a class Q^* if $T^{*2}T^2 = (TT^*)^2$ and Quasi-class Q if $T^{*3}T^3 - 2T^{*2}T^2 + T^*T \ge 0$. An operator $T \in B(H)$ is in class μ if $T^2 = -T^{*2}$ An operator $T \in B(H)$ is called an n-power-hyponormal operator if $T^nT^* \le T^*T^n$. This class includes all normal, all n-normal and all hyponormal operators. An operator $T \in B(H)$ is Binormal if T^*T commutes with TT^* , That is $(T^*T)(TT^*) = (TT^*)(T^*T)$. An operator $T \in B(H)$ is square normal if $T^2(T^*)^2 = (T^*)^2T^2$.

2 Methodology

In [1], the author extended the class of normal operators to a class of square normal operators and established that every normal operator is a square normal operator, but the reverse is not necessarily true. This study extends the properties of normal operators and their related operators to square normal operators. These properties include adjoint, inverse, unitary equivalence, scalar addition and multiplication, as well as the product and sum of operators.

Many authors have investigated these properties on other operators in Hilbert spaces. For instance, [2] investigated the above properties on n-binomial operators. Jibril [3] investigated the concept of unitary equivalence and noted that any operator S unitarily equivalent to operator T in μ is also in μ . Devika [4] proved that if $T \in B(H)$ is of quasi-class Q, then T^{-1} , if it exists, is of quasi-class Q. As seen in [5], the authors proved that any operator unitarily equivalent to an n-hyponormal operator is also an n-hyponormal operator. This concept of unitary equivalence is also extended to n-class Q operators. Also, according to [6], for any T in n-class Q whose T^{-1} exists, T^{-1} is an operator of n-class Q.Wanjala and Nyongesa [7] also showed that the above three properties hold for class Q^* operators.

The concept of scalar multiplication and scalar addition on operators in the Hilbert space has been investigated by many authors. Alzuraiqi and Patel [8] established that n-normal operators are closed under scalar multiplication but not closed under scalar subtraction unless the scalar is zero. According to [9], operators whose squares are 2-normal are closed under scalar multiplication. However, [9] also noted that the concept of scalar addition does not hold for (SN) operators. That is, if $T \in (SN)$, then it is not necessary that $T + \lambda I$ is in (SN). According to [2], n-power class Q operators are closed under scalar multiplication for any scalar $\lambda \in \mathbb{R}$. Panayappan et al. [6] noted that if $T \in B(H)$ is an n-class Q operator, then λT is also an n-class Q operator.

Lemma 2.1: [10]

If T and S are normal operators on H with the property that each commutes with the adjoint of the other, then

- (i) T + S is normal.
- (ii) TS is normal

In [8], the authors extended this concept to n-normal operators and noted that the commutativity condition of n-normal operators should not be ignored as seen in lemma 2.2.

Lemma 2.2: [8]

If S and T are commuting n-normal operators, then ST is an n-normal operator.

However, if operators S and T are non-commuting, then ST are not necessarily n-normal. According to [8], the sum of two commuting n-normal operators need not be n-normal as seen in the following example. Given operators T and S as,

 $T = \begin{bmatrix} 0 & 1\\ 0 & 0 \end{bmatrix}$

 α $\begin{bmatrix} 1 & 0 \end{bmatrix}$

and

We have,

and

Now

and

	$S = \begin{bmatrix} 0 \end{bmatrix}$	1,	
$TS = \begin{bmatrix} 0\\ 0 \end{bmatrix}$	$1 \\ 0 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix}$	$\begin{bmatrix} 0\\1 \end{bmatrix} = \begin{bmatrix} 0\\0 \end{bmatrix}$	$\begin{bmatrix} 1\\ 0 \end{bmatrix}$
$ST = \begin{bmatrix} 1\\ 0 \end{bmatrix}$	$\begin{bmatrix} 0\\1 \end{bmatrix} \begin{bmatrix} 0\\0 \end{bmatrix}$	$\begin{bmatrix} 1\\ 0 \end{bmatrix} = \begin{bmatrix} 0\\ 0 \end{bmatrix}$	$\begin{bmatrix} 1\\ 0 \end{bmatrix}$
$S+T = \begin{bmatrix} 1\\ 0 \end{bmatrix}$	$\begin{bmatrix} 0\\1 \end{bmatrix} + \begin{bmatrix} 0\\0 \end{bmatrix}$	$\begin{bmatrix} 0 & 1 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} \\ \end{bmatrix}$	$\begin{bmatrix} 1 & 1 \\ 0 & 1 \end{bmatrix}$
$(S+T)^2 = \bigg $	$\begin{bmatrix} 1 & 1 \\ 0 & 1 \end{bmatrix} \begin{bmatrix} 1 \\ 0 \end{bmatrix}$	$\begin{bmatrix} 1 & 1 \\ 0 & 1 \end{bmatrix} = \begin{bmatrix} 1 \end{bmatrix}$	$\begin{bmatrix} 1 & 2 \\ 0 & 1 \end{bmatrix}$

 $\begin{bmatrix} 1 & 2 \\ 0 & 1 \end{bmatrix}$ is not normal and hence S+T is not an n-normal operator.

Jibril [9] studied the sum and product of operators in SN and noted that the product of two operators in SN is also in SN provided that the operators commute with each other. However, the sum of two operators in SN is not necessarily in SN regardless of the commutation property of the two operators being satisfied. According to [2], the product of two non-commuting 2-normal operators is not 2-normal. These also proved that the sum and difference of two commuting n-normal operators need not be n-normal. According to [3], μ operators are not closed under addition or multiplication. Messaoud [5] noted that if T and S 2-power-hyponormal operators, such that $TS^* = S^*T$ and ST + TS = 0, then T + S and ST are 2-power-hyponormal.

3 Results and Discussion

Proposition 3.1.

If an operator $T \in B(H)$ is square normal, then

- (i) T^* is a square normal operator.
- (ii) If T is invertible, that is T^{-1} exist, then T^{-1} is a square normal operator.
- (iii) Any operator $S \in B(H)$ that is unitarily equivalent to T is a square normal operator.

Proof (i)

Since T is a square normal operator, we have

$$T^2 T^{*2} = T^{*2} T^2 \tag{3.1}$$

Replacing T with T^* on the left and right of equation (3.1) we have,

$$(T^*)^2 (T^*)^{*2} = (T^*)^{*2} (T^*)^2$$
(3.2)

Simplifying equation (3.2) we obtain

$$T^{*2}T^2 = T^2T^{*2} \tag{3.3}$$

a square normal. Therefore, T^* is square normal.

Proof (ii)

$$(T^{-1})^{2}(T^{-1})^{*2} = (T^{2})^{-1}(T^{*2})^{-1}$$

= $(T^{2}T^{*2})^{-1}$
= $(T^{*2})^{-1}(T^{2})^{-1}$
= $(T^{-1})^{*2}(T^{-1})^{2}$

Hence T^{-1} is square normal.

Proof (iii)

Let $S \in B(H)$ which is unitarily equivalent to T. There is a unitary operator $U \in B(H)$ such that $S = U^*TU$ which implies that $S^* = (U^*TU)^* = U^*T^*U$.

$$S^{2}S^{*2} = U^{*}TUU^{*}TUU^{*}T^{*}UU^{*}T^{*}U = U^{*}T^{2}T^{*2}U$$
(UU^{*} = I) (3.4)

$$S^{*2}S^{2} = U^{*}T^{*}UU^{*}T^{*}UU^{*}TUU^{*}TU$$

= $U^{*}T^{*}T^{*}TTU$
= $U^{*}T^{*2}T^{2}U$ (3.5)

Since T is square normal, we have $U^*T^2T^{*2}U = U^*T^{*2}T^2U$. This implies that

 $S^2 S^{*2} = S^{*2} S^2$ and so S is a square normal operator.

Square normal operators are closed under scalar multiplication and addition.

Theorem 3.1.

Let $T \in B(H)$ be a normal operator, then, for any scalar $\lambda \in (\mathbb{C})$,

(i) λT is square normal.

(ii) $T + \lambda$ is square normal.

Proof (i) Since T is a normal operator, from [8], T is square normal.

$$(\lambda T)^{2} (\lambda T)^{*2} = (\lambda)^{2} (T)^{2} (\lambda^{*})^{2} (T^{*})^{2}$$
$$= (\lambda)^{2} (\lambda^{*})^{2} (T)^{2} (T^{*})^{2}$$
$$= (\lambda^{*})^{2} (\lambda)^{2} (TT^{*})^{2}$$
$$= (\lambda^{*} \lambda)^{2} (T^{*}T)^{2}$$
$$= (\lambda^{*})^{2} (\lambda)^{2} (T^{*})^{2} (T)^{2}$$
$$= (\lambda^{*}) (T^{*})^{2} (\lambda)^{2} (T)^{2}$$
$$= (\lambda^{*}T^{*})^{2} (\lambda)^{2} (T)^{2}$$
$$= (\lambda T)^{*2} (\lambda T)^{2}$$

Hence (λT) is square normal.

Proof (ii)

Suppose on the contrary $(T + \lambda)$ is not square normal. Then,

$$(T+\lambda)^{2}(T+\lambda)^{*2} - (T+\lambda)^{*2}(T+\lambda)^{2} \neq 0$$
 (3.6)

Then

$$T^{2}T^{*2} + \lambda T^{2}T^{*} + \lambda TT^{*2} + \lambda TT^{*} - T^{*2}T^{2} - \lambda T^{*2}T - \lambda T^{*}T^{2} - \lambda T^{*}T \neq 0$$
(3.7)

Since T is square normal,

$$\lambda T^2 T^* + \lambda T T^{*2} + \lambda T T^* - \lambda T^{*2} T - \lambda T^* T^2 - \lambda T^* T \neq 0$$
(3.8)

Since T is normal,

$$\lambda T^2 T^* + \lambda T T^{*2} - \lambda T^{*2} T - \lambda T^* T^2 \neq 0$$
(3.9)

Multiplying equation (3.9) with T^* from left on both sides we get

$$\lambda T^* T^2 T^* + \lambda T^* T T^{*2} - \lambda T^* T^{*2} T - \lambda T^* T^* T^2 \neq 0$$
(3.10)

Multiply equation (3.10) with T from right on both sides we get

$$\lambda T^* T^2 T^* T + \lambda T^* T T^{*2} T - \lambda T^* T^{*2} T T - \lambda T^* T^* T^2 T \neq 0$$
(3.11)

Since T is normal, equation (3.11) becomes

$$\lambda T^{*}TT^{*}TT + \lambda T^{*}TT^{*2}T - \lambda T^{*}T^{*2}TT - \lambda T^{*}T^{*}T^{2}T \neq 0$$
(3.12)

$$\lambda T^* T^* T T T + \lambda T^* T T^{*2} T - \lambda T^* T^{*2} T T - \lambda T^* T^* T^2 T \neq 0$$
(3.13)

Equation (3.13) yields

$$\lambda T^* T^* T^2 T + \lambda T^* T T^{*2} T - \lambda T^* T^{*2} T T - \lambda T^* T^* T^2 T \neq 0$$
(3.14)

By simplifying equation (3.14) we obtain

$$\lambda T^* T T^{*2} T - \lambda T^* T^{*2} T T \neq 0 \tag{3.15}$$

Since T is normal,

$$\lambda T^* T T^{*2} T - \lambda T^* T^{*2} T^2 \neq 0$$

$$\lambda T^* T T^* T - \lambda T^* T^{*2} T^2 \neq 0$$

$$\lambda T^* T^* T T T - \lambda T^* T^{*2} T^2 \neq 0$$

$$\lambda T^* T^* T^* T T - \lambda T^* T^{*2} T^2 \neq 0$$

$$\lambda T^* T^* T^* T^* T - \lambda T^* T^{*2} T^2 \neq 0$$

A contradiction.

This implies that the assumption that $T + \lambda$ is not square normal was wrong. So $T + \lambda$ is square normal and therefore

$$(T+\lambda)^2 (T+\lambda)^{*2} = (T+\lambda)^{*2} (T+\lambda)^2$$

Note that the condition T is normal should not be ignored otherwise $T + \lambda$ will not be square normal.

Example 3.1 illustrates the existence of a square normal operator that is not normal as seen in [1]. As noted, scalar addition does not hold for such operators.

Example 3.1. [1]

Let T be given by $T = \begin{bmatrix} i & 0\\ i & -i \end{bmatrix}$ where $i \in \mathbb{C}$, then $T^* = \begin{bmatrix} -i & -i\\ 0 & i \end{bmatrix}$ We have

$$TT^* = \begin{bmatrix} i & 0\\ i & -i \end{bmatrix} \begin{bmatrix} -i & -i\\ 0 & i \end{bmatrix} = \begin{bmatrix} 1 & 1\\ 1 & 2 \end{bmatrix}$$
$$T^*T = \begin{bmatrix} -i & -i\\ 0 & i \end{bmatrix} \begin{bmatrix} i & 0\\ i & -i \end{bmatrix} = \begin{bmatrix} 2 & -1\\ -1 & 1 \end{bmatrix}$$

Since $TT^* \neq T^*T$, T is not normal.

$$T^{2} = \begin{bmatrix} i & 0 \\ i & -i \end{bmatrix} \begin{bmatrix} i & 0 \\ i & -i \end{bmatrix} = \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix}$$
$$T^{*2} = \begin{bmatrix} -i & -i \\ 0 & i \end{bmatrix} \begin{bmatrix} -i & -i \\ 0 & i \end{bmatrix} = \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix}$$
$$T^{2}T^{*2} = \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$$
$$T^{*2}T^{2} = \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} \begin{bmatrix} -1 & 0 \\ 0 & -1 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix}$$

 $T^2 T^{\ast 2} = T^{\ast 2} T^2$ and hence square normal.

Therefore, T is square normal but not normal.

Let our scalar $\lambda = i$ be represented as λI where I is a 2 × 2 identity matrix.

Now $\lambda I = \begin{bmatrix} i & o \\ o & i \end{bmatrix}$ Then

$$T + \lambda I = \begin{bmatrix} 2i & 0\\ i & 0 \end{bmatrix}$$
$$(T + \lambda I)^{2} = \begin{bmatrix} -4 & 0\\ -2 & 0 \end{bmatrix}$$
$$(T + \lambda I)^{*} = \begin{bmatrix} -2i & -i\\ 0 & 0 \end{bmatrix}$$
$$(T + \lambda I)^{*2} = \begin{bmatrix} -4 & -2\\ 0 & 0 \end{bmatrix}$$
$$(T + \lambda I)^{2}(T + \lambda I)^{*2} = \begin{bmatrix} -4 & 0\\ -2 & 0 \end{bmatrix} \begin{bmatrix} -4 & -2\\ 0 & 0 \end{bmatrix} = \begin{bmatrix} 16 & 8\\ 8 & 4 \end{bmatrix}$$
$$(T + \lambda I)^{*2}(T + \lambda I)^{2} = \begin{bmatrix} -4 & -2\\ 0 & 0 \end{bmatrix} \begin{bmatrix} -4 & 0\\ -2 & 0 \end{bmatrix} = \begin{bmatrix} 20 & 0\\ 8 & 0 \end{bmatrix}$$

Hence $T + \lambda I$ is not a square normal.

(

The theorem 3.2 shows that the sum and product of two commuting square normal operators is a square normal operator.

Theorem 3.2

Let H be a Hilbert space and T and S be normal operators on B(H). Then,

- (i) T + S is square normal.
- (ii) TS is square normal.

Proof (i)

$$(T+S)^{2}(T+S)^{*2} = (T+S)(T+S)(T^{*}+S^{*})(T^{*}+S^{*})$$

= $(T+S)(T^{*}+S^{*})(T+S)(T^{*}+S^{*})$
= $(T^{*}+S^{*})(T+S)(T^{*}+S^{*})(T+S)$
= $(T^{*}+S^{*})(T^{*}+S^{*})(T+S)(T+S)$
= $(T+S)^{*}(T+S)^{*}(T+S)(T+S)$
= $(T+S)^{*2}(T+S)^{2}$

Hence square normal.

Proof (ii)

$$(TS)^{2}(TS)^{*2} = (TS)(TS)(TS)^{*}(TS)^{*}$$

= (TS)(TS)^{*}(TS)(TS)^{*}
= (TS)^{*}(TS)(TS)^{*}(TS)
= (TS)^{*}(TS)^{*}(TS)(TS)
= (TS)^{*2}(TS)^{2}

Hence square normal.

It is worth noting that if the operators T and S are non-commutative, then T + S and TS are not necessarily square normal operators.

Example 3.2 shows that the sum two commuting square normal operators is a square normal operator.

Example 3.2

Let
$$T = \begin{bmatrix} i & 0 \\ 0 & i \end{bmatrix}$$
 and $S = \begin{bmatrix} 1 & i \\ -i & 2 \end{bmatrix}$ be two square normal operators which are normal.

Then we have the following

$$TS = \begin{bmatrix} i & 0 \\ 0 & i \end{bmatrix} \begin{bmatrix} 1 & i \\ -i & 2 \end{bmatrix} = \begin{bmatrix} i & -1 \\ 1 & 2i \end{bmatrix},$$
$$ST = \begin{bmatrix} 1 & i \\ -i & 2 \end{bmatrix} \begin{bmatrix} i & 0 \\ 0 & i \end{bmatrix} = \begin{bmatrix} i & -1 \\ 1 & 2i \end{bmatrix}$$

Therefore S and T commutes.

Now,

$$T + S = \begin{bmatrix} i & 0 \\ 0 & i \end{bmatrix} + \begin{bmatrix} 1 & i \\ -i & 2 \end{bmatrix} = \begin{bmatrix} i+1 & i \\ -i & i+2 \end{bmatrix}$$
$$(T + S)^* = \begin{bmatrix} -i+1 & i \\ -i & -i+2 \end{bmatrix}$$
$$(T + S)^{*2} = \begin{bmatrix} -i+1 & i \\ -i & -i+2 \end{bmatrix} \begin{bmatrix} -i+1 & i \\ -i & -i+2 \end{bmatrix} = \begin{bmatrix} -2i+1 & 2+3i \\ -2-3i & -4i+4 \end{bmatrix}$$
$$(T + S)^2 = \begin{bmatrix} i+1 & i \\ -i & i+2 \end{bmatrix} \begin{bmatrix} i+1 & i \\ -i & i+2 \end{bmatrix} = \begin{bmatrix} 2i+1 & -2+3i \\ 2-3i & 4i+4 \end{bmatrix}$$

To show that T + S is Square normal,

$$(T+S)^{2}(T+S)^{*2} = \begin{bmatrix} 2i+1 & -2+3i\\ 2-3i & 4i+4 \end{bmatrix} \begin{bmatrix} -2i+1 & 2+3i\\ -2-3i & -4i+4 \end{bmatrix} = \begin{bmatrix} 18 & 27i\\ -27i & 45 \end{bmatrix}$$

$$(T+S)^{*2}(T+S)^{2} = \begin{bmatrix} -2i+1 & 2+3i\\ -2-3i & -4i+4 \end{bmatrix} \begin{bmatrix} 2i+1 & -2+3i\\ 2-3i & 4i+4 \end{bmatrix} = \begin{bmatrix} 18 & 27i\\ -27i & 45 \end{bmatrix}$$

Therefore, $(T+S)^2(T+S)^{*2} = (T+S)^{*2}(T+S)^2$ and hence T+S is Square normal.

Next, we give an example to show that if two square normal operators T and S do not commute, then S + T is not necessarily a square normal operator.

Example 3.3

Let two operators T and S be two operators in \mathbb{R}^2 .

 $T = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix}, S = \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix}$

Then,

$$T^* = \begin{bmatrix} 0 & -1\\ 1 & 0 \end{bmatrix}, S^* = \begin{bmatrix} 0 & 0\\ 0 & 1 \end{bmatrix}$$
$$TT^* = \begin{bmatrix} 0 & 1\\ -1 & 0 \end{bmatrix} \begin{bmatrix} 0 & -1\\ 1 & 0 \end{bmatrix} = \begin{bmatrix} 1 & 0\\ 0 & 1 \end{bmatrix}$$

and

$$T^*T = \begin{bmatrix} 0 & -1\\ 1 & 0 \end{bmatrix} \begin{bmatrix} 0 & 1\\ -1 & 0 \end{bmatrix} = \begin{bmatrix} 1 & 0\\ 0 & 1 \end{bmatrix}$$

Since T is normal, it is square normal.

On the other hand, $S=S^*$. This is a Hermitian operator which is normal implying square normal.

$TS = \left[\begin{array}{c} 0\\ -1 \end{array} \right]$	$\begin{array}{c}1\\0\end{array} \begin{bmatrix} 0\\0\end{array}$	$\begin{bmatrix} 0\\1 \end{bmatrix} = \begin{bmatrix} 0\\0 \end{bmatrix}$	$\begin{bmatrix} 1\\ 0 \end{bmatrix}$
$ST = \begin{bmatrix} 0\\ 0 \end{bmatrix}$	$\begin{bmatrix} 0\\ -1 \end{bmatrix} \begin{bmatrix} 0\\ -1 \end{bmatrix}$	$\begin{bmatrix} 0\\ 0 \end{bmatrix} = \begin{bmatrix} 0\\ -1 \end{bmatrix}$	$\begin{bmatrix} 1\\ 0 \end{bmatrix}$

Clearly, $TS \neq ST$ hence non-commutative.

We now have,

 $T + S = \begin{bmatrix} 0 & 1 \\ -1 & 0 \end{bmatrix} + \begin{bmatrix} 0 & 0 \\ 0 & 1 \end{bmatrix} = \begin{bmatrix} 0 & 1 \\ -1 & 1 \end{bmatrix}$

and

and

$$(T+S)^{2} = \begin{bmatrix} 0 & 1 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} 0 & 1 \\ -1 & 1 \end{bmatrix} = \begin{bmatrix} -1 & 1 \\ -1 & 0 \end{bmatrix}$$
$$(T+S)^{*} = \begin{bmatrix} 0 & -1 \\ 1 & 1 \end{bmatrix}$$

and

$$(T+S)^{*2} = \begin{bmatrix} -1 & -1\\ 1 & 0 \end{bmatrix}$$
$$(T+S)^{2}(T+S)^{*2} = \begin{bmatrix} -1 & 1\\ -1 & 0 \end{bmatrix} \begin{bmatrix} -1 & -1\\ 1 & 0 \end{bmatrix} = \begin{bmatrix} 2 & 1\\ 1 & 1 \end{bmatrix}$$
$$(T+S)^{*2}(T+S)^{2} = \begin{bmatrix} -1 & -1\\ 1 & 0 \end{bmatrix} \begin{bmatrix} -1 & 1\\ -1 & 0 \end{bmatrix} = \begin{bmatrix} 2 & -1\\ -1 & 2 \end{bmatrix}$$

This shows that $(T+S)^2(T+S)^{*2} \neq (T+S)^{*2}(T+S)^2$ and therefore T+S is not square normal.

4 Conclusions

This research focused on investigating square normal operators and their properties in Hilbert spaces. Several properties, including sum and product, scalar addition and multiplication, adjoint, inverse, and unitarily equivalence relations have been investigated. Future research plans to explore the spectral properties of this class of operators.

Disclaimer (Artificial Intelligence)

Author(s) hereby declare that NO generative AI technologies such as Large Language Models (ChatGPT, COPILOT, etc) and text-to-image generators have been used during writing or editing of manuscripts.

Competing Interests

Authors have declared that no competing interests exist.

References

- Mahmood K. On square normal operators. British Journal of Mathematics and Computer Science. 2016;19:1–7.
- [2] Panayappan S, Sivamani N, Jibril A. On n-binormal operators. General Mathematical Notes. 2012;10:1-8.
- [3] Jibril A. On μ Operators. International Mathematical Forum. 2013;8:1215–1224.
- [4] Devika A, Suresh G. On some properties of Quasi-class Q operator. International Journal of Applied Mathematics and Statistical Sciences. 2013;2:63–68
- [5] Messaoud G, Mostefa N. On n-power-hyponormal operators. Global Journal of Pure and Applied Mathematics. 2016;12:473–479.
- [6] Panayappan S, Sivamani N, Jibril A. On n-binormal operators. General Mathematical Notes. 2012;10:1-8.
- [7] Wanjala V, Nyongesa M. On class (Q^*) . International Journal of Mathematics And its Application. 2021;9:227–230.
- [8] Alzuraiqi A, Patel A. On n-normal operators. General mathematics notes. 2010;1:61–73.

[9] Jibril A. On operators whose squares are 2-normal. Journal of Mathematical Science: Advances and Applications. 2011;8:61–72.

[10] Conway B. A course in functional analysis, Graduate Texts in Math. Springer; 1985.

Disclaimer/Publisher's Note: The statements, opinions and data contained in all publications are solely those of the individual author(s) and contributor(s) and not of the publisher and/or the editor(s). This publisher and/or the editor(s) disclaim responsibility for any injury to people or property resulting from any ideas, methods, instructions or products referred to in the content.

 \bigcirc Copyright (2024): Author(s). The licensee is the journal publisher. This is an Open Access article distributed under the terms of the Creative Commons Attribution License (http://creativecommons.org/licenses/by/4.0), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Peer-review history:

The peer review history for this paper can be accessed here (Please copy paste the total link in your browser address bar)

https://www.sdiarticle5.com/review-history/121253